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1
Decision/action requested

It is proposed to agree on the changes
2
References

 [1]
 3GPP TR 32.833 Study on Management of Converged Networks V0.6.0
3
Rationale

Providing example scenario of a transport network problem from end user and MNO help desk prespective.

4
Detailed proposal

Providing example Customer Facing Services Management scenario into [1].
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5.3
Use Cases for Customer Facing Services Management

[Editors Note] Describe here examples of customer facing services 

5.3.1
End user has problems with a streaming service
· Scenario

MNO is providing LTE service to its customers. As part of the MNOs service offering customers are also offered subscritions to live broadcasting of football games.
The LTE radio network is operated by a Mobile Network Operator (MNO) and the transport network by a Transport Network Operator (TNO). The MNO does not have control over the transport network.
· Network Context

The MNO manages transceiver type and controller type Network Elements (NE) of the radio network.

The TNO manages the wireline mobile backhaul between the transceiver and the controller type NEs of the radio network.

Transport network has edge nodes both at the transceiver and controller sides of the transport network. Edge node is assumed to be a gateway/interface node between the radio and the transport networks.

· Description

End user is watching a live football broadcasting using her mobile phone. Suddenly the broadcasting is interrupted. As the end user cannnot connect to the live football broadcasting again she calls to the MNO’s helpdesk.
The MNO’s helpdesk answers to the phone call where the end user is informing that she cannot anymore access the live football broadcasting. The helpdesk is able to see that there are some connectivity problems at the cell cite, as well as at the neighbouring cell cites, the end user is located in.
The helpdesk informs the end user that there seems to be some network problems and requests the end user to wait for a moment while the helpdesk is asking for any further information about the problem and when the problem is estimated to be solved.
After a short moment, the helpdesk is informed that there was a problem in the transport network which has been resolved automatically. However, end users might have faced some problems in the service offering. In the meanwhile also alarms at the cell cites have been cleared.
The help desk informs the end user that the problem should have been solved now and apologies for interruption of the service. As compensation the end user account is credited with an electronic vouncher that can be used to pay for some MNO’s service 
· Implications

In order to solve the customer problem efficiently: 

· The MNO’s helpdesk needs to get information from the network problemst that may affect customers services.
· The actual root cause of the network problem should be solved efficiently.
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